

FUNCTIONS WITH ASYMPTOTICALLY INFINITE DIFFERENCES

Charles H. Heiberg

(Received June 15, 1971)

A well-known result, due to Karamata ([1], [2]), is that if f is a continuous function on the reals and if $f(x+t)-f(x)$ converges as $x \rightarrow +\infty$ for every t real, then the convergence is uniform in t on bounded sets. Strengthened, generalized, and analogous results have been proved. (see, e. g., [3], [4], [5].) In this paper we obtain one more analogous result; namely, if f is a measurable, real-valued function on the reals and if $f(x+t)-f(x)$ diverges to $+\infty$ as $x \rightarrow +\infty$ for every t real and positive, then this divergence is uniform in t on $[\delta, \infty]$ for every δ positive. To state and prove this result in a more general form, we introduce the following notation:

$$(R^n)^+ = \{(r_1, r_2, \dots, r_n) : r_i > 0 \text{ for } i = 1, \dots, n\},$$

m denotes Lebesgue measure on $(R^n)^+$,

for t real: $T_t f(x) = f(x+t), \Delta_t f(x) = f(x+t) - f(x),$

for integers $j > 1: \Delta_t^j f(x) = \Delta_t^{j-1} (\Delta_t f(x))$

for $\sigma = (s_1, s_2, \dots, s_n)$ in $(R^n)^+ : \Delta_\sigma f(x) = \Delta_{s_1} \Delta_{s_2} \dots \Delta_{s_n} f(x),$

for a subset A of $(R^+)^n : A^n$ denotes the n -fold cartesian product of A with itself.

Theorem. *If f is a real-valued, measurable function on R^+ which satisfies*

(1) $\Delta_\sigma f(x) \rightarrow +\infty$ for all σ in $(R^n)^+$,

then

(i) *the divergence in (1) is uniform in σ on subsets S of $(R^n)^+$ which are bounded away from the axes,*

(ii) *for some X positive, f is bounded on every finite sub-interval of $[X, \infty)$,*

(iii) *$f(x) \rightarrow +\infty$ and $\Delta_\sigma f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for all*

$$\sigma \text{ in } (R^j)^+, j = 1, \dots, n.$$

Proof of (i). We need the following identities:

(2)
$$\Delta_\sigma = \sum_{d_1=0}^1 \dots \sum_{d_n=0}^1 \left(\prod_{j=1}^n (T_{b_j} \Delta_{s_j - b_j})^{d_j} (\Delta_{b_j})^{1-d_j} \right),$$

where b_1, \dots, b_n are arbitrary real numbers,

$$(3) \quad \Delta_\lambda = \sum_{k_n=1}^{j_n} \cdots \sum_{k_1=1}^{j_1} \Delta_\sigma T_q(k_1, \dots, k_n; \sigma)'$$

where $\lambda = (j_1 s_1, \dots, j_n s_n)$; j_1, \dots, j_n are positive integers; and $q(k_1, \dots, k_n; \sigma) = \sum_{i=1}^n (k_i - 1) s_i$,

$$(4) \quad (T_z \Delta_{s-b})^d (\Delta_b)^{1-d} = (T_{s-b})^d \text{ where } z = \begin{cases} s-b, & \text{if } d=1 \\ b, & \text{if } d=0 \end{cases}$$

We obtain (2) by taking the product of the n identities

$$\Delta_{s_j} = T_{b_j} \Delta_{s_j - b_j} + \Delta_{b_j}, \quad j = 1, 2, \dots, n.$$

We obtain (3) by taking the product of the n identities

$$\Delta_{j_i s_i} = \sum_{j=1}^{j_i} \Delta_{s_i} T_{(j-1)s_i}, \quad j = i, \dots, n,$$

and observing that the product of the right-hand sides is equal to

$$\sum_{k_1=1}^{j_1} \cdots \sum_{k_1=1}^{j_1} \prod_{i=1}^n T_{(k_i-1)s_i}$$

and then noting that $\prod_{i=1}^n \Delta_{s_i} T_{(k_i-1)s_i}$ equals $\Delta_\sigma T_q(k_1, \dots, k_n; \sigma)$.

The identity (4) is easily verified in each of the cases $d=0$ and $d=1$.

To prove (i) it suffices to consider the case $S = [a, 2a]^n$, where a is a positive number. To see that this case implies the general case we have only to show that if $\Delta_\sigma f(x) > m$ for all σ in $[a, 2a]^n$ and $x > X$, then $\Delta_\lambda f(x) > m$ for all λ in $[a, \infty)^n$ and $x > X$. For this we observe that there exist $\sigma = (s_1, \dots, s_n)$ in $[a, 2a]^n$ and positive integers j_1, \dots, j_n such that $\lambda = (j_1 s_1, \dots, j_n s_n)$; that, by (3),

$$\Delta_\lambda f(x) = \sum_{k_n=1}^{j_n} \cdots \sum_{k_n=1}^{j_n} \Delta_\sigma f\left(x + \sum_{i=1}^n (k_i - 1) s_i\right);$$

and that each of the terms in the last sum is greater than m for x greater than X .

We now consider the set $S = [a, 2a]^n$, where a is some positive number, and assume that the divergence in (1) is not uniform in S . This implies that for $r = 1, 2, \dots$, there exist $\sigma(r) = (s_1(r), \dots, s_n(r))$ in $[a, 2a]^n$ and real x_r , and a constant K such that $x_r \rightarrow +\infty$ and

$$(5) \quad \Delta_{\sigma(r)} f(x_r) < K \text{ for } r = 1, 2, \dots$$

Let $B = [a/4, a/2]^n$. For $\delta = (d_1, \dots, d_n)$ in $\{0, 1\}^n$, define $B_{\delta, r}$ to be the set of (b_1, \dots, b_n) in B satisfying

$$\left(\prod_{j=1}^n (T_{b_j} \Delta_{s_j(r) - b_j})^{d_j} (\Delta_{b_j})^{1-d_j} \right) (f(x_r)) < K/2^n$$

From (2) and (5) we obtain $B = \bigcup_{d_n=0}^1 \cdots \bigcup_{d_1=0}^1 B_{\delta,r}$ for $r = 1, 2, \dots$. So for some δ in $\{0, 1\}^n$

$$(6) \quad m(B_{\delta,r}) \geq (mB)/2^n = (a/8)^n \text{ for infinitely many } r.$$

Hereafter we consider a fixed δ satisfying (6). Define Z_r to be the set of (z_1, \dots, z_n) in $(R^n)^+$ satisfying

$$z_j = \begin{cases} s_j(r) - b_j(r), & \text{if } d_j = 1 \\ b_j(r) & , \text{if } d_j = 0 \end{cases}$$

for some $(b_1(r), \dots, b_n(r))$ in $B_{\delta,r}$ and $j = 1, \dots, n$. Observe that Z_r is obtained from $B_{\delta,r}$ by reflections and translations so that Z_r is measurable with the same measure as $B_{\delta,r}$. Thus, by (6),

$$(7) \quad mZ_r \geq (a/8)^n \text{ for infinitely many } r.$$

Since $B_{\delta,r} \subseteq B$ for $r = 1, 2, \dots$, where B is a fixed bounded set, and since for $r = 1, 2, \dots$ the translations in the definition of Z_r are all by elements from the fixed bounded set S , we obtain that $\bigcup_{r=1}^{\infty} Z_r$ has finite measure. This and (7) imply

$$m(\limsup Z_r) = m\left(\lim_{k \rightarrow +\infty} \bigcup_{r>k} Z_r\right) = \lim_{k \rightarrow \infty} m\left(\bigcup_{r>k} Z_r\right) \geq (a/8)^n,$$

so that there exists $z = (z_1, \dots, z_n)$ in $(R^n)^+$ such that z is an element of Z_r for infinitely many r . Equivalently, there is a z in $(R^n)^+$ such that for infinitely many r there exist $(b_1(r), \dots, b_n(r))$ in $B_{\delta,r}$ having the property

$$z_j = \begin{cases} s_j(r) - b_j(r), & d_j = 1 \\ b_j(r) & , d_j = 0 \end{cases} \text{ for } j = 1, \dots, n.$$

From this, by applying (4) to every term of the product

$$\prod_{j=1}^n (T_{b_j(r)} \Delta_{s_j(r)-b_j(r)})^{d_j} (\Delta_{b_j(r)})^{1-d_j},$$

and by recalling the definition of $B_{\delta,r}$ we obtain that

$$\prod_{j=1}^n ((T_{s_j(r)-z_j})^{d_j} \Delta_{z_j}) ((f(x_r)) < K/2^n$$

for infinitely many r . This last inequality can be written in the form $\Delta_z f(w_r) < K/2^n$ where $z = (z_1, \dots, z_n)$ is in $(R^n)^+$ and $w_r = x_r + \sum_{j=1}^n d_j (s_j(r) - z_j) \rightarrow +\infty$ as $r \rightarrow +\infty$.

This contradicts (1), proving (i).

Proof of (ii). Let $0 < a < b$ be arbitrary. We use (i) to choose $X > a$ so that

$$(8) \quad \Delta_t f(x) > 0 \text{ for } x > X, t \text{ in } [a, b].$$

Suppose that f is unbounded on some sub-interval $I = [c, d]$ of $[X, \infty)$. Without loss of generality we assume that I has length $b - a$. There exists a sequence x_r of elements from I such that either

$$(9) \quad f(x_r) > r, \text{ for } r = 1, 2, \dots, \text{ or}$$

$$(10) \quad f(x_r) < -r, \text{ for } r = 1, 2, \dots$$

If (9) holds, choose t_r from $[a, b]$ so that $x_r + t_r = d + a$, $r = 1, 2, \dots$. Then (8) and (9) imply that

$$f(d+a) = f(x_r + t_r) > f(x_r) > r, \quad r = 1, 2, \dots,$$

contradicting $f(d+a) < +\infty$. If (10) holds, choose t_r from $[a, b]$ so that $x_r - t_r = c - a$. Then (8) and (10) imply

$$f(c-a) = f(x_r - t_r) < f(x_r) < -r, \quad r = 1, 2, \dots,$$

contradicting $f(c-a) > -\infty$.

PROOF OF (iii). We show that $\Delta_t f(x) \rightarrow +\infty$, for all t in R^+ , implies $f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$. By repeated applications of this result we shall obtain (iii).

By (i) and (ii) we can choose $X > 1$ so that

$$(11) \quad \Delta_t f(x) > 1, \quad \text{for } x > X, \quad t \text{ in } [1, \infty), \text{ and}$$

$$(12) \quad f(x) > C, \quad \text{for } x \text{ in } [X, 2X] \text{ where } C \text{ is a fixed constant.}$$

Let k be a positive integer, and x_0 an element of (kX, ∞) . Then $x_0 = px_1$ for some integer $p > k$ and x_1 in $[X, 2X]$, so

$$(13) \quad f(x_0) = f(px_1) = f(x_1) + \sum_{j=1}^{p-1} \Delta_{x_1} f(jx_1).$$

By (11), each term in this last sum is greater than one. Since $p > k$, (12) and (13) imply $f(x_0) > k + C$ for arbitrary x_0 in $[kX, \infty)$. This completes the proof (iii) and the theorem.

Remarks.

(A) The conclusion of the theorem does not necessarily hold if we remove the requirement that S be bounded away from the axes. To see this, let $f(x) = x^2$, $S = \{1/r : r = 1, 2, \dots\}$, $t_r = 1/r$, $x_r = r$. Then $\Delta_t f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for t in R^+ , but $\Delta_{t_r} f(x_r) \rightarrow 2$ as $r \rightarrow +\infty$.

(B) The proof of (ii) of the theorem actually yields more than is stated; namely, if f is a real-valued not necessarily measurable function on R^+ , and if there is no X such that f is locally bounded on $[X, \infty)$, and if $\Delta_t f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for every t in R^+ , then on every interval of R^+ the divergence of $\Delta_t f(x)$ as $x \rightarrow +\infty$ is not uniform in t .

(C) The conclusion of the theorem does not necessarily hold if we remove the requirement that f be measurable, even if we require that S be a compact subset of R^+ . To see this, let $g(x)$ be any non-measurable solution of Cauchy's equation, and let $f(x) = g(x) + x^2$. Then $\Delta_t f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for all t in R^+ , and f is unbounded on every sub-interval of R^+ , so by remark (ii) the divergence is not uniform in t on any sub-interval of R^+ .

(D) There remains one result of Baishanski [5] which we have been unable to extend. He proved that if $\Delta_t^n f(x)$ converges as $x \rightarrow +\infty$ for all t real, then $\Delta_\sigma f(x)$ converges as $x \rightarrow +\infty$ for all σ in R^n . Is it true that $\Delta_t^n f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for all t in R^+ implies $\Delta_\sigma f(x) \rightarrow +\infty$ as $x \rightarrow +\infty$ for all σ in $(R^n)^+$?

REFERENCES

- [1] J. Karamata, *Sur un mode de croissance régulière des fonctions*, *Matematica (Cluj)* 4 (1930), 38—53.
- [2] Karamata, *Sur un mode de croissance régulière. Théorèmes fondamentaux*. *Bull. de la Soc. math de France* 61 (1933), 55—62.
- [3] J. Korevaar, T. Van Aardenne-Ehrenfest and N. G. De Bruijn, *A Note on Slowly Oscillating Functions*, *Nieuw Archief voor Wiskunde* (2) 23 (1949), 77—86.
- [4] I. Csizsár and P. Erdős, *On the function $g(t) = \limsup (f(x+t) - f(x))$* , *Magyar Tud. Akad. Mat-Kutato Int. Közl.* Vol. IX, Ser. A, Fasc. 3 (1964) 603—606.
- [5] B. Baishanski, *The Asymptotic Behavior of the n^{th} order difference*, *L'Enseignement Mathématique* Vol. 15, Ser. 2 (1969), 29—41.

Department of Mathematics
The Ohio State University
Columbus, Ohio 43210
U. S. A.